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REM :

IDENTIFICATION

PRODUCT CODE:  AC-S884A-M(

PRODUCT NAME:  CZKMEAO DMS11=DA DYNAMIC
PROGRAM DATE: SEPTEMBER 1981
MAINTAINER: CSS/NPG DIAGNOSTICS

"AUTHOR: R. C. BALDWIN
R. J. COLLINS

COPYRIGHT (C) 1982 BY

DIGITAL EQUIPMENT CORPORATION,
MAYNARD, MASSACHUSETTS.

ALL RIGHTS RESERVED.

THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY

BE USED AND COPIED ONLY IN ACCORDANCE WITH THE

TERMS OF SUCH LICENSE AND WITH THE INCLUSION

OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER
COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE

MADE AVAILABLE TO ANY OTHER PERSON. NO TITLE TO

AND OWNERSHIP OF THE SOFTWARE IS HEREBY TRANSFERRED.

THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT
NOTICE AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL
EQUIPMENT CORPORATION.

DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF
ITS SOFTWARE ON EQUIPMENT THAT IS NOT SUPPLIED BY DIGITAL.
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1.0 ABSTRACT

THE DMS11,-D,=A,~DA LINE UNIT DYNAMIC DIAGNOSTIC TESTS THE LINE UNIT
FOR BOTH CCP'e BOP MODES IN THE USYRT MAINTENANCE MODE. THIS DIAGNOSTIC
EXERCISES THE LINE UNIT WITH RESIDENT FIRMWARE IN THE KMC11

gigixe% PURPOSE MICROPROCESSOR. THIS DIAGNOSTIC IS A STAND ALONE

2.0 REQUIREMENTS
2.1 EQUIPMENT

PDP=11 PROCESSOR
KMC11 GENERAL PURPOSE MICROPROCESSOR
NOTE: THIS DIAGNOSTIC WILL TEST UP TO 16 KMC11
GENERAL PURPOSE MICROPROCESSOR'S, BUT THEY
MUST BE INSTALLED SEQUENTIALLY ON THE BUSS
DMS11-D LINE UNIT
NOTE: I:é?1DIAGNOSTIC WILL TEST UP TO 8 LINES PER

2.2 STORAGE
THIS DIAGNOSTIC NEEDS A MINIMUM OF 16K OF MEMORY LOCATIONS

2.3 PRELIMINARY PROGRAMS

CZKMBAQ KMC11-B STATIC PART1

CZKMCAO KMC11-B STATIC PART?2

CZKMDAO DMS11=DA DYNAMIC

PRIOR TO EXERCISING THE DYNAMIC DIAGNOSTIC THE KMC11 MUST BE ERROR
FREE. THIS DIAGNOSTIC DOES NOT TEST THE KMC11

3.0 LOADING PROCEDURE

3.1 ME THOD

LOAD THE DIAGNOSTIC USING THE ABS LOADER. THIS DIAGNOSTIC
SELF STARTING. TO RESTART THE DIAGNOSTIC LOAD ADDRESS 5?2

AND DEPRESS START. IF THE DIAGNOSTIC IS ON MAGNETIC ME
FOLLOW THE INSTRUCTIONS FOR TAE MONITOR BEING USED.

SE@ 0002
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4.0 STARTING PROCEDURE
6.1 STARTING ADDRESS (200)

4.2 RESTART ADDRESS

RESTART ADDRESS 200 (8)
4.3 OPERATOR ACTION

DURING THE INITIAL START UP THE DIAGNOSTIC WILL OUTPUT TO THE
TELETYPE THE TITLE OF THE DIAGNOSTIC AND ENTER THE MONITOR. DURING
A RESTART THE DIAGNOSTIC WILL NOT OUTPUT THE TITLE OF THE DIAGNOSTIC
BUT ENTER THE MONITOR DIRECTLY. AFTER ENTRY INTO THE DIAGNOSTIC
MONITOR THE OPERATOR CAN ENTER THE COMMANDS LISTED IN SECTION

4.4 OF THIS WRITEUP.

SEQ 0003
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5.0 STARTING AND TEST INITIALIZATION:

LOAD AND START MEMORY ADDRESS 200 BY PRESCRIBED
METHOD AS PER PDP=11 PROCESSOR TYPE.
THE CONSOLE DEVICE WILL IDENTIFY THE DIAGNOSTIC ON THE
FIRST START UP.
THE CONSOLE MONITOR ROUTINE IS ENTERED EACH TIME ON START
UP AND OFFERS THE OPERATOR THE FOLLOWING CHOICES AS

(1) DIAG. TEST (2) CONFIGURE

TO WHICH THE OPERATOR MUST RESPOND WITH A 1 OR 2

o g?kEOUEgSBY A CARRIAGE RETURN.
DIAG. TEST IS ENTERED IF THE CONFIGURATION ROUTINE HA
BEEN PREVIOUSLY ENTERED AND IF NOT WILL AUTOMATICALLY
GO INTO THE CONFIGURATION ROUTINE TO SPECIFY KMC11(S)

S

STATUS.
BEFORE EXECUTING TESTS AN OPERATOR'S WARNING MESSAGE IS PRINTED
INFORMING OF CONFIGURATINO TABLE UNITS REQUIRING EXTERNAL LOOP
CONNECTORS BE INSTALLED.

UNITS REQUIRING LOOP CONNECTORS
UNIT # 1

...ETC

(2) CONF IGURE
WHEN THE CONFIGURE MODE IS ENTERED FOR THE FIRST TIME
THE CONFIGURE TABLE IS ENTERED FROM THE TOP AND THE FIRST
KMC11 IS SPECIFIED

EV.ADR.= (6 OCTAL CHARACTERS) ;BUS ADDRESS OF KMC11 CSR

D

(1) BOP (0) cCP sSELECT MODE

(1) ENABLE (0) DISABLE ;IF 0, UNIT WON'T BE TESTED

gg?ggéﬂg% ?g)CRC-SZ TESTING (IF ?OP WITH CRC32 & INTERNAL (#%)
DEV.VEC.=(3 OCTAL CHARACTERS) ;VECTOR ADDRESS OF RECEIVE INTERRUPT
(1)EXTERNAL (0) INTERNAL :SELECT LOOPBACK

INT.PRI. (4=7) ; INTERRUPT PRIORITY LEVEL
LINES(0=7) CI.E. . #.#.#) OR (A)=ALL (N)=NONE sSELECT ENABLED LINES

(+ =) IF BOP MODE WAS REQUESTED THE INQUIRY IS PROMPTED AND MUST
BE ANSWERED ACCORDING TO WHETHER THE DMS11, IS A DMS11-A, DMS11-D OR DMS11-DA.
DMS11-A & DMS11=D HAVE CRC-32 AND DMS11-DA’DOES NOT.

(+x«)MESSAGE IS PRINTED IF BOP MODE WITH CRC-32 AND OPERATOR
REQUESTS TO RUN INTERNAL LOOP BACK MODE.
DMS11~A: SELECT LINE O ONLY

NOTE: IF STATUS IS NOT TO BE CHANGED ON CURRENT INQUIRY A CARRIAGE
RETURN (ONLY) MAY BE TYPED

SEQ 0004
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AFTER THE INPUTTING IS COMPLETED AN ''+'* IS PRINTED AT WHICH POINT
THE OPERATOR HAS 3 CHOICES BY TYPING AN

. (EXIT) THE CONFIGURE ROUTINE (ENTERS CONSOLE ROUTINE OR
DIAG. TEST IF DIAG. TEST WAS THE ENTRY POINT

™ (MODIFY) AN M FOLLOWED BY A #1-16 (DEC) TO SPECIFY THE DESIRED
KMC11'S STATUS TO BE MODIFIED. THE STATUS BLOCK IS PRINTED
AND THE NEW STATUS INVOLKED.

"A (ALL) FROM LAST KMC1?1 PARAMETER BLOCK POINTED TO EITHER BY
THE INITIAL ENTRY OR_THE 'MODIFY'' ROUTINE THE REMAINING
BLOCKS ARE LOADED WITH THE SAME CONFIGURATICN STATUS TO THE END
OF THE CONFIGURATION TABLE.

STATUS CAN BE CONFIGURED AND RUN AS

* ANY COMBINATION O E
S ENABLED IN THE TABLE

F DEVIC
LONG AS AT LEAST 1 KMC11 I

CONTROL :
TYPING A CNTR C (“C) WILL FORCE ENTRY TO THE MONITOR

ROUTINE.

PROCESSORS WITHOUT CONSOLE PANELS WILL HAVE A SOFT
SWITCH REGISTER WHICH IS INVOLKED BY THE OPERATOR TYPING
A CNTR G (*G). AFTER THE NEW SWITCH VALUE IS ENTERED THE
PROGRAM IS RESUMED AT POINT OF “G INVOLK.

SEQ 0005
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5.1 SWITCH OPTIONS:

THE SWITCH REGISTER SETTING MUST BE DONE ACCORDING TO
PROCESSOR TYPE AND HARDWARE ARCHITECT.

sHALT ON ERROR

:LOOP ON TEST

:INHIBIT ERROR _TYPEOUTS
;RING BELL ON ERROR
;LOOP ON ERROR

oo
et g b Bt bt
i -

e b B mend
SQuau
nnwuwnn
b b b b

TEST EXECUTION + SEQUENCES:

EACH TEST MUST BE SUCCESSIVELY COMPLETED
BEFORE THE NEXT CAN BE ENTERED. ALL TESTS
ARE RUN SEQUENTIALLY ON EACH UNIT (KMC +
DMS11D) AND THE CURRENT DEVICE IS SPECIFIED
BY THE SEQUENCE OF THE CONFIGURATION TABLE
(ENABLED UNITS ONLY).

6.0 ERRORS

ALL ERRORS ARE REPORTED ON THE TTY UNLESS CONSOLE SWITCH

13 IS SET (REFER _TO SECTION 5.1 OF THIS WRITEUP). ALL ERRORS
REPORTED HAVE A ENGLISH TYPE STATEMENT EXPLAINING THE ERROR
WITH OUTPUT OF CERTAIN REGISTERS OR MEMORY LOCATIONS WHICH
CAN BE USED AS AN AID.

6.1 ERROR REPORTING:
ERROR LOGGING CONTROL IS IN ACCORDANCE WITH THE SWITCH
REGISTER SETTINGS AS DESCRIBED UNDER ‘‘SWITCH OPTIONS''
ALt ER?OR REPORTS ARE HEADEESBY THE FOLLOWING INFRREA;ION
(# OF FAILING UNIT) (# OF FAILING TEST) (# INDICATING THE FAILURE)

THE ADDITIONAL FIELDS ARE IN ACCORDANCE TO THE TEST AND
g:;: ;%Etgg OF CONCERN. THE FOLLOWING DESCRIBES THE POSSIBLE

SHBE = THE (SHOULD-BE) VALUE OF THE EXPECTED DATA OF THE
SUBTEST (FAIL _#). THE SHBE VALUES ARE DES'RIBED IN
THE SECTION “TEST DESCRIPTIONS AND FAILE _# INFORMATION:"'
WITH RESPECT TO THE FAIL #.

WAS = THE (WAS) FIELD IS THE VALUE RECEIVED PERTAINING

TO THE DATA OR STATUS UNDER TEST. THE WAS VALUES
ARE DESCRIBED IN THE SECTION '‘TEST DESCRIPTIONS AND
FAIL # INFORMATION:'* WITH RESPECT TO THE FAIL #.

LINE # = THE NUMSER OF THE FAILING_DMS11 MULTIPLEXED LINE
IN THE RANGE OF 0 THROUGH 7.

SEQ 0006




H 1
CZKMEAO DMS11-DA DYNAMIC MACY11 30A(1052) 21-0CT-81 08:50 PAGE 7
CZKMEA.P11 20-0CT-81 17:05 SEQ 0007

DEV. ADR. = FIRST CSR ADDRESS OF UNIT FAILING.

CSRO
CSR2
CSR4
CSR6

THE CONTENTS OF THE FOUR CONTROL AND STATUS REGISTERS
AT TIME OF DETECTED FAILURE.

NOTE: NOT ALL CSR'S CONTENTS MAY BE PERTINENT TO THE
ENCOUNTERED ERROR, THIS IS DUE TO THE NATURE OF THE
SPECIFIC PROTCOL. THE OPERATOR MUST BE FAMILIAR

WITH THE PROTCOL HANDBOOK AND REGISTER USAGE WITH
RESPECT TO THE COMMAND CURRENTLY REFLECTED IN THE CSR'S.
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BUFEA = BITS 0 + 1 DISPLAY ADDRESS BITS 16 + 17 RESPECTIVELY
OF THE CURRENT BUFFER ADDRESS UNDER TEST.

BUFADR = LOW ORDER 16 BITS OF BUFFER ADDRESS UNDER TEST.

T=BUFF = TRANSMIT BUFFER ADDRESS THAT SHOULD BE RETURNED
(FROM THE KMC11).

R-BUFF = RECEIVE BUFFER ADDRESS THAT SHOULD BE RETURNED
(FROM THE KMC11)

CUR-EA = BITS 0 + 1 DISPLAY ADDRESS BIT 16 + 17 RESPECTIVELY
OF THE CURRENT BUFFER ADDRESS UNDER TEST.

CURBUF = LOW ORDER 16 BITS OF BUFFER ADDRESS UNDER TEST.

1
MACY11 30A(1052) 21-0CT-81 08:50 IPAGE 8

SEQ@ 0008
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CZKMEA.PT
7.0

7.1

7.2

TEST

TEST INFORMATION

TEST EXECUTION + SEQUENCES:

EACH TEST MUST BE SUCCESSIVELY COMPLETED
BEFORE THE NEXT CAN BE ENTERED. ALL TESTS
ARE RUN SEQUENTIALLY ON EACH UNIT (KMC +
DMS11D) AND THE CURRENT DEVICE IS SPECIFIED
BY THE SEQUENCE OF THE CONFIGURATION TABLE
(ENABLED UNITS ONLY).

TEST DESCRIPTIONS AND FAIL # INFORMATION:

1

THIS TEST CHECKS FOR THE PRESENCE OF THE
CURRENTLY ENABLED KMC-11 BY INITIALIZING THE
FIRMWARE AND TESTING THAT THE FIRMWARE RESPONDS
BY CLEARING 'BSELZ

ERROR REPORT:
FAIL #S.
1=KMC-11 DEVICE ADDRESS DOES NOT RESPOND
=KMC=11 FIRMWARE FAILED TO INITIALIZE
DEV.ADDR.
(BASE ADDRESS OF FAILING UNIT)

TEST 2:

THIS TEST CHECKS THAT THE READY IN BIT (BIT7-SELO) IS
INITIALIZED AND CONTROLLED BY THE FIRMWARE. THE READY IN
BIT IS TESTED FOR BEING INITIALLY CLEARED THEN

THE REQUEST IN BIT (BIT5-SELO) IS SET AND READY IN

IS TESTED FOR BEING SET BY THE FIRMWARE, THEN REQUEST IN

IS CLEARED AND READY=IN TESTED FOR BEING CLEARED BY THE FIRMWARE.

ERROR REPORT:

FAIL #S

1=KMC-11 FAILED TO INITIALIZE

2=KMC-11 READY IN BIT SET WITH NOT REQUEST-IN

3=KMC-11 FIRMWARE FAILED TO SET READY-IN WHEN REQ. IN WAS SET
4=KMC-11 FIRMWARE FAILED TO CLEAR READY-IN WHEN REQ. IN WAS CLEARFD

SHBE WAS
(STATUS SELO SHOULD BE) (STATUS SELO READ AS) (* IF PERTAINING)

TEST 3:

THIS TEST CHECKS THAT THE KMC-11 FIRMWARE IS NOT
REQUESTING AN OUTPUT OF ANY TYPE, BY EXAMINING BSELZ2
OF THE KMC=11 CSR'S

SEQ 0009
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ERROR REPORT

FAIL #S

=F IRMWARE FAIL TO INITIALIZE

2=KMC=11 REQ AN OUTPUT AFTER BEING INITIALIZED

SHBE WAS
(STATUS BSEL2 SHOULP BE) (STATUS BSEL2 READ AS)

TEST &:
THIS TEST WILL DO A LINE INITIALIZE TO ALL LINES (SUCCESSIVELY)
AND TEST THAT THE READY=IN BIT (BIT7-BSELO) SETS AFTER EACH

INITIALIZE COMMAND

ERROR REPORT:

FAIL #S

1=KMC-11 FIRMWARE FAILED TO INITIALIZE

=CANNOT ISSUE AN INPUT COMMAND (OUTPUT REQUESTED OR RDY=IN FAILED)
=F IRMWARE FAILED TO COMPLETE LINE INITIALIZE COMMAND.

TEST §5:
THIS TEST WILL ISSUE A '‘TRANSMIT BUFFER IN'' TO EACH LINE
AND TEST THAT EACH COMMAND ACCEPTS.

ERROR REPORT:

FAIL #°'S

1=F IRMWARE FAILED TO INITIALIZE

2=INPUT CANNOT BE ISSUED (FIRMWARE HUNG OR OUTPUT PENDING)
3=XMIT BUFFER IN FAILED TO COMPLETE

TEST 6:
THIS TEST WILL ISSUE A '"RECEIVE BUFFER IN'' TO EACH LINE
AND TEST THAT EACH COMMAND ACCEPTS.

ERROR REPORT

FAIL #'S

1=F IRMWARE FAILED TO INITIALIZE

2=INPUT CANNOT BE ISSUED (FIRMWARE HUNG OR OUTPUT PENDING)
3=RECEIVE BUFFER IN FAILED TO COMPLETE

TEST 7:
THIS TEST CHECKS THAT EACH LINE CAN ACCEPT AND
TRANSMIT AND RECEIVE BUFFER. EACH LINE IS INIT
THE MAINT. LOOP AND CLOCK IS ENABLED AND TWO RE
AND ONE TRANSFMIT BUFFER ARE THEN QUEUED TO THE
TEST. +A SERIES OF TESTS ARE PERFORMED TO CHEC

&
ED,
UNDER

FIELD
IALIZ
CEIVE
LINE
K THAT:
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1) THE FIRST RECEIVE BUFFER IS RETURNED WITH AN EMA (1)
STATUS AND THE CORRECT ENDING MEMORY ADDRESS,

2) THE TRANSMIT BUFFER IS RETURNED WITH A 1 STATUS AND THE
CORRECT MEMORY ADDRESS.

THE FAIL #'S RANGE FROM 1 TO 22 (OCTAL)

ERROR REPORT :

TEST# FAIL# LINE# SHBE CSRO  CSR2 ~ CSRé  CSRé
TSTNUM ERNUM  CURLIN  SHBE  CSRO  CSRZ  CSRé  CSRe
1=F IRMWARE FAILED TO INITIALIZE *

=CURRENT LINE FAILED TO COMPLETE LINE INITIALIZE +

=MAINTENANCE COMMAND (START CLOCK + INTERNAL LOOP) FAILED TO COMPLETE +
4=1ST 'BUFFER IN'' COMMAND (RECEIVE BUFFER) FAILED TO COMPLETE +
=2ND 'BUFFER IN'' COMMAND (RECEIVE BUFFER) FAILED TO COMPLETEw
=3RD 'BUFFER IN'* COMMAND (TRANSMIT BUFFER) FAILED TO COMPLETE *
=B]T 5 OF SEL2 FAILED TO SET WITHIN SPECIFIED TIME (FIRST BUFFER)
COMMAND (SELZ) NOT PROPER RETURNED BUFFER TYPE

STATUS (SEL7) NOT = 1 (END COUNT REACHED)
RETURNED LINE NUMBER IS INCORRECT (SEL3)

ENDING BUFFER ADDRESS EXTENDED BITS (SEL7) INCORRECT
ENDING BUFFER 16~BIT ADDRESS (SEL4) INCORRECT

S OF SEL2 FAILED TO SET WITHIN SPECIFIED TIME (SECOND BUFFER)
=2ND COMMAND (SEL2) NOT PROPER RETURNED BUFFER TYPE
=2ND STATUS (SEL7) NOT = 1 (END COUNT REACHED)
=2ND RETURNED LINE NUMBER IS INCORRECT (SEL3)
=2ND ENDING BUFFER ADDRESS EXTENDED BITS (SEL7) INCORRECT
22=2ND_ENDING BUFFER 16=BIT ADDRESS (SEL4) INCORRECT

+=1F ATTEMPTING AN INPUT FUNCTION AND AN OUTPUT IS PENDING

THE COMMAND IS ABANDONED AND SEL2 WILL

SHOW THE OUTPUT REQUEST, OTHERWISE IT IS ASSUMED THAT THE

FIRMWARE IS NON-RESPONSIVE

=S ONO VS W —=O
TR TR
—nunnn
oy 4 —

TEST 10:
THIS TEST CHECKS THAT A LINE OVERFLOW CONDITION WILL RETURN A
CONTROL OUT"* STATUS INDICATING THE LINE OVERFLOW.
EACH LINE 1S TESTED FOR RETURNING THE OVERFLOW STATUS BY INITIALIZING
THE LINE, QUEUEING A 10 CHARACTER TRANSMIT BUFFER AND A 1 CHR.
RECIEVE BUFFER AND TESTING THAT A CONTROL OUT COMMAND INDICATING
A LINE OVERFLOW FOR THE CURRENT LINE IS RETURNED AFTER THE REC. BUFFER IS RETURNED

EALL #°S o

1=INITIALIZATION OF THIS TEST FAILED (FIRMWARE HUNG OR OUTPUT REQ.IS SET)
2=RECEIVE BUFFER IN FAILED TO LOAD

3=TRANSMIT BUFFER IN FAILED TO LOAD

4=RECEIVE BUFFER NOT RETURNED

5=CONTROL OUT COMMAND FAILED TO RETURN

6=RETURNED COMMAND (SELZ2) IS NOT A CONTROL OUT

7=SEL7 DOES NOT INDICATE A LINE OVERFLOW

10=RETURNED LINE # (SEL3) IS INCORRECT.

SEQ@ 0011
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TEST 11:
THIS TEST CHECKS THAT THE RECEIVE BUFFERS ARE KILLED BY THE '‘LINE RESET'’
COMMAND BY INITIALIZING THE CURRENT LINE, QUEUEING A SHORT RECEIVE BUFFER
TO THE LINE, ISSUEING A ‘‘LINE RESET'' COMMAND, STARTING THE
MAINTENANCE CLOCK, QUEUING A SECOND RECEIVE BUFFER TO THE LINE,
SENDING A LONGER TRANSMIT BUFFER TO THE LINE,
AND TESTING THAT A CONTROL OUT COMMAND IS RETURNED (LINE OVERFLOW
OF THE CURRENT LINE) AFTER ONE RECEIVE BUFFER OUT IS RETURNED.

T g

1=INITIALIZATION OF THIS TEST FAILED ((SHBE=0)

RECEIVE BUFFER FIALED TO LOAD (SHBE=0)

CONTROL IN COMMAND (LINE RESET) CANNOT BE ISSUED (SHBE=0)
LINE RESET COMMAND FAILED TO COMPLETE (SHBE=0)

CLOCK FAILED TO START

2ND RECEIVE BUFFER FAILED TO LOAD (SHBE=0)

TRANSMIT BUFFER IN FAILED TO LOAD (SHBE=0)

=RECEIVE BUFFER OUT WAS NOT RETURNED (SHBE=0)

=AN OUTPUT WAS NOT RETURNED FROM THE KMC (INDICATING A LINE OVERFLOW) (SHBE=0)
=LINE OVERFLOW BIT IN SEL7 NOT _SET

2
3
4
5
6
7
1
121
13=LINE # (SEL3) NOT SAME AS LINE UNDER TEST

0
1
2
3

TEST 12:
THIS TEST WILL CHECK THAT THE TRANSMIT BUFFERS ARE KILLED BY A
LINE RESET BY INITIALIZING THE CURRENT LINE,
QUEUEING A TRANSMIT BUFFER TO THE LINE, ISSUING A LINE RESET
COMMAND, STARTING THE CLOCK, AND TESTING THAT NO
OUTPUT IS RETURNED FROM THE KMC.

FATL #0S o

1=F IRMWARE HUNG OR REQUESTING TO DO AN OUTPUT (SHBE=0)
2=TRANSMIT BUFFER IN FAILED TO COMPLETE (SHBE=0)
3=LINE RESET COMMAND FAILED TO COMPLETE (SHBE=0)
4=MAINTENANCE COMMAND FAILED TO START CLOCK (SHBE=0)
5=AN OUTPUT COMMAND WAS RETURNED FROM THE KMC (SHBE=0)

TEST 13:
THIS TEST WILL CHECK THAT THE °‘'IN ABORT'' COMMAND DOES NOT
TERMINATE ANY OF THE TRANSMIT BUFFERS BY INITIALIZING EACH
LINE, SENDING.A LFANSHIT BUFFER TO THE LINE THEN ISSUEING
A LINE ABORT *'IN'' (BIT1 SEL7=1) TO THE LINE, AND TESTING
THAT THE NORMAL XMIT BUFFER OUT (EMA) IS REfURNED.

SE@ 0012
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e
=F IRMWARE HUNG OR AN OUTPUT REQUEST PENDING IN TEST SETUP ROUTINES
=BUFFER IN FAILED TO COMPLETE

ABORT COMMAND CANNOT BE ISSUED

LINE ABORT COMMAND FAILED TO COMPLETE

NO OUTPUT REQUESTED AFTER THE ABORT COMMAND

STATUS ON XMIT BUFFER OUT 1S NOT ENDING MEMORY ADDRESS (1)

[« 3V, F YW WO

TEST 14:
THIS TEST WILL CHECK THAT THE '‘OUT ABORT'' COMMAND DOES NOT
TERMINATE ANY OF THE RECEIVE BUFFERS BY INITIALIZING EACH
LINE, SENDING A RECEIVE BUFFER TO THE LINE, THEN ISSUEING
A LINE ABORT 'OUT™ (BIT1 SEL7=1) TO THE LINE, AND TESTING
THAT NO STATUS (BUFFER OUTS) IS RETURNED.

AL #'S

1=F IRMWARE HUNG OR AN OUTPUT REQUEST PENDING IN TEST SETUP ROUTINES
2=BUFFER IN FAILED TO COMPLETE

3=ABORT COMMAND CANNOT BE ISSUED

4=LINE ABORT COMMAND FAILED TO COMPLETE

5=0UTPUT IS BEING REQUESTED AFTER THE ABORT COMMAND

TEST 15:
THIS TEST WILL CHECK AN "‘ABORT OUT'' COMMAND WILL RETURN (KILL)
THE BUFFER CURRENTLY QUEUED TO THE LINE UNDER TEST, BY INITIALIZING
ALL LINES, SENDING A TRANSMIT BUFFER TO EACH LINE, THEN ISSUEING
A LINE ABORT OUT COMMAND TO EACH LINE INDIVIDUALLY, TESTING THAT
ONLY THE BUFFER QUEUED TO THAT LINE IS RETUPNED WITH A
STATUS (SEL6) OF (-6) '‘TERMINATED ON REQUEST'’.

el
1=F IRMWARE HUNG OR OUTPUT REQ. WHEN INITIALLY SETTING UP TEST
§=TRANSHIT BUFFER IN FAILED TO LOAD (SHBE=0)
=ABORT COMMAND CANNOT BE ISSUED (SHBE=0)
4=THE ABORT COMMAND FAILED TO COMPLETE (SHBE=0)
6=NO ABORTED BUFFER RETURNED (SHBE=0)
7=COMMAND OUT NOT VALID AS PER SELO (SHBE=SELO)
10=LINE # RETURNED NOT CORRECT (SHBE=LINE #)
11=STATUS RETURNED (SEL6) NOT '‘TERMINATED ON REQ.''(=6) (SHBE==6)

TEST 16:
THIS TEST WILL CHECK AN ‘'ABORT IN'' COMMAND WILL RETURN (KILL)
THE BUFFER CURRENTLY QUEUED TO THE LINE UNDER TEST BY INITIALIZING

SEQ 0013
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ALL LINES, SENDING A RECEIVE BUFFER TO EACH LINE, THEN ISSUEING
A LINE “ABORT IN'' COMMAND TO EACH LINE INDIVIDUALLY TESTING THAT

ONLY THE BUFFER QUEUED TO THAT LINE IS RETURNED WITH

STATUS (SEL6) OF (=6) "‘TERMINATED ON REQUEST''.

i

1=F IRMVARE HUNG OR OUTPUT REQ. WHEN INITIALLY SETTING UP TEST
2=RECEIVE BUFFER IN FAILED TO LOAD (SHBE=0)

3=ABORT COMMAND CANNOT BE ISSUED (SHBE=0)

4=THE ABORT COMMAND FAILED TO COMPLETE (SHBE=0)

S=PRIMING TRANSMIT BUFFER IN FAILED TO COMPLETE (CCP ONLY)
6=NO ABORTED BUFFER RETURNED (SHBE=0)

7=COMMAND OUT NOT VALID AS PER SEL2 (SHBE=SEL2)

10=LINE # RETURNED NOT CORRECT (SHBE=LINE #)

11=STATUS RETURNED (SEL6) NOT '‘TERMINATED ON REO.''(=6) (SHBE=-6)
12=PRIMING TANSMIT BUFFER FAILED TO RETURN (CCP ONLY)

nnune

TEST 17:
THIS TEST CHECKS THAT AN ALTERNATE ‘“‘TRANSMIT'' BUFFER CAN BE QUEUED
TO EACH LINE AND IS RETURNED WHEN A LINE ABORT COMMAND
IS ISSUED. AFTER EACH LINE IS TESTED FOR RETURNING ITS
BUFFERS, AN ALTERNATE BUFFER IS QUEUED TO THE LINE

e, Spt
1=F IRMWARE HUNG OR OUTPUT REQ. ON INITIAL TEST SETUP ROUTINES
2=1ST TRANSMIT BUFFER IN FAILED TO LOAD (SHBE=0)
=ALTERNATE TRNASMIT BUFFER FAILED TO LOAD
4=ABORT COMMAND CANNOT BE ISSUED
=LINE ABORT COMMAND FAILED TC COMPLETE
=NO RESPONSE (OUTPUT) AFTER ABORTING BUFFER (1ST BUFFER) (SHBE=200)
=0UTPUT NOT A BUFF OUT OR BIT2-SEL2 SHOJS INCORRECT BUFFER TYPE (1ST BUFF) (SHBE=200)
INE NUMBER (SEL3) OF RETURNED BUFF INCORRECT (1ST BUFFER) (SHBE=LINE #)
ETURNED BUFFER STATUS (SEL6) NOT A =6 (1ST BUFFER) (SHBE=-6)
ABORT COMMAND CANNOT BE ISSUED
LINE ABORT COMMAND FAILED TO COMPLETE
RESPONSE (OUTPUT) AFTER ABORTING BUFFER (2ND BUFFER) (SHBE=200)
0=0UTPUT NOT A BUFF OUT OR BIT2-SEL2 SHOWS INCORRECT BUFFER TYPE (2ND BUFF) (SHBE=200)
21=LINE NUMBER (SEL3) OF RETURNED BUFF INCORRECT (2ND BUFFER) (SHBE=LINE #)
22=RETURNED BUFFER STATUS (SEL6) NOT A -6 (2ND BUFFER) (SHBE==6)
24=LAST ALTERNATE BUFFER FAILED TO LOAD

l’gZI—

883

0=
1
2
4
5
7=

Ndddﬂddﬂ

TEST 20:
THIS TEST CHECKS THAT AN ALTERNATE 'RECEIVE'' BUFFER CAN BE QUEUED
TO EACH LINE AND IS RETURNED WHEN A LINE ABORT COMMAND
IS ISSUED. AFTER EACH LINE IS TESTED FOR RETURNING ITS

SEQ 0014
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BUFFERS, AN ALTERNATE BUFFER IS QUEUED TO THE LINE

il
1=F IRMWARE HUNG OR OUTPUT REQ. ON INITIAL TEST SETUP ROUTINES
§=1ST TRANSMIT BUFFER IN FAILED TO LOAD (SHBE=0)
=ALTERNATE TRNASMIT BUFFER FAILED TO LOAD
4=ABORT COMMAND CANNOT BE ISSUED
5=LINE ABORT COMMAND FAILED TO COMPLETE
=PRIMING TRANSMIT BUFFER_FAILED TO LOAD (CCP ONLY)
7=NO RESPONSE (OUTPUT) AFTER ABORTING BUFFER (1ST BUFFER) (SHBE=200)
OUTPUT NOT A BUFF OUT OR BIT2-SEL2 SHOWS INCORRECT BUFFER TYPE (1ST BUFF) (SHBE=200)
LINE NUMBER (SEL3) OF RETURNED BUFF INCORRECT (1ST BUFFER) (SHBE=LINE #)
RETURNED BUFFER STATUS (SEL6) NOT A =6 (1ST BUFFER) (SHBE=<6)
PRIMING TRANSMIT BUFFER NOT RETURNED (CCP ONLY)
ABORT COMMAND CANNOT BE ISSUED
D LINE ABORT COMMAND FAILED TO COMPLETE
PRIMING TRANSMIT BUFFER FAILED TO LOAD (CCP ONLY)
RESPONSE (OUTPUT) AFTER ABORTING BUFFER (2ND BUFFER) (SHBE=200)
=0UTPUT NOT A BUFF OUT OR BIT2-SEL2 SHOWS INCORRECT BUFFER TYPE (2ND BUFF) (SHBE=200)
LINE NUMBER (SEL3) OF RETURNED BUFF INCORRECT (2ND BUFFER) (SHBE=LINE #)
RETURNED BUFFER STATUS (SEL6) NOT A =6 (2ND BUFFER) (SHBE==6)
SND PRIMING TRANSMIT BUFFER NOT RETURNED (CCP ONLY)
LAST ALTERNATE BUFFER FAILED TO LOAD

&

nunmnuwunn
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POPINININ) = b b d e d b b
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TEST 21:
THIS TEST CHECKS THAT ALTERNATE BUFFERS CAN BE QUEUED TO EACH
LINE AND ARE PROPERLY HANDLED BY THE FIRMWARE. A PROGRESSION IS
DONE, TESTING THE QUEUEING OF ALTERNATE BUFFERS TO EACH LINE
THE CURRENT LINE IS QUEUED 2 RECEIVE AND 2 TRANSMIT BUFFERS
AND A TEST THAT THE BUFFERS FOR THE CURRENT LINE ARE RETURNED CORRECTLY.

i A
1=FAILURE IN TEST INITIALIZATION ROUTINES (SHBE=0)
=RECEIVE BUFFER FAILED TO LOAD (SHBE=0)
3=TRANSMIT BUFFER FAILED TO LOAD (SHBE=0)
4=0OUTPUT REQ. NOT SET (BUFFER NOT RETURNED) (SHBE=0)
5=WRONG LINE NUMBER RETURNED (SHBE=CURRENT LINE #)
6=WRONG STATUS RETURNED (SHBE=CORRECT STATUS)
7=RETURNED BUFFER ADDRESS NOT CORRECT (SHBE=CORRECT ADDRESS)
10=THERE HAVE BEEN 4 BUFFERS OUT BUT NOT 2 RX + 2 TX (SHBE=# OF RX BUFFERS)
11=AFTER 4 BUFFERS ANOTHER REQ.OUT IS POSTED (SHBE=# OF RX BUFFERS SO FAR)

TEST 22:
THIS TEST CHECKS THAT A NON-EXISTANT MEMORY STATUS (=5) WILL BE
RETURNED WITH A RECEIVE BUFFER QUT. THE NON=-EXISTANT MEMORY
kggsggggbls I1/0 PAGE LOCATION 10 TO WHICH THE RECEIVE BUFFER IS

ERROR REPORT:

SEQ 0015
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FAIL #'S
1=FAILURE IN TEST INITIALIZATION ROUTINES (SHBE=0)
=RECEIVE BUFFER FAILED TO LOAD
3=TRANSMIT BUFFER FAILED TO LOAD
4=NO OUTPUT RESPONSE FROM THE (NON-EXISTANT MEMORY) TRANSFER. (SHBE= 204 (SEL2))
S=QUTPUT RESPONSE NOT FROM A RETURNED RECEIVE BUFFER (SHBE=204 (SEL2))
6=RETURNED RECEIVE BUFFER STATUS NOT CORRECT (SHBE==5 (NXM=STATUS))

TEST 23:
CCP MODE ONLY
THIS TEST WILL CHECK THAT THE 2 CHARACTERS ETX AND ETB
ARE DETECTED AND PROPERLY RETURN THE BUFFER OUT COMMAND STATUS.
BOTH CHARACTERS ARE TESTED INDIVIDUALLY WITH EACH PREFIXED
BY AN SOH THEN A STX

ERROR  REPORT:
g:?L;SLOU BYTE = SOH OR STX HIGH BYTE = ETX OR ETB (FAILING COMBINATION)
1=FAILURE IN TEST SET UP ROUTINES
2=RECEIVE BUFFER FAILED TO LOAD
S=TRANSMIT BUFFER FAILED TO LOAD
4=NO RESPONSE WAS RECEIVED FROM THE TERMINATION CHARACTER
S=RETURNED COMMAND IS NOT A RECEIVE BUFFER OUT
6=BUFFER RETURNED DOES NOT HAVE CORRECT ENDING MEMORY ADDRESS
=SEL6 RETURNED STATUS IS NOT CORRECT

TEST 24:
CCP MODE ONLY
THIS TEST CHECKS THAT AN LRC ERROR CONDITION CAN BE DETECTED
AND RETURNS THE RECEIVE BUFFER WITH AN LRC CONDITION
TO GENERATE THE LRC ERROR A SPECIALLY fORﬂﬁTTED BUFFER IS OUTPUT WITH
AN ADDITIONAL CHARACTER FOLLOWING THE ‘ETX'' WHICH THE RECEIVER
INTERPRETS AS THE LRC CHARACTER

ERROR  REPORTS:
FAILAS
1=FAILURE IN TEST INITIALIZE ROUTINE
2=RECEIVE BUFFER FAILED TO LOAD
3=TRANSMIT BUFFER FAILED TO LOAD
4=THERE IS NO OUTPUT RESPONSE FROM THE LRC ERROR CONDITION
5=0UTPUT IS NOT A BUFFER OUT COMMAND
6=RETURNED ENDING MEMORY ADDRESS NOT CORRECT
=RETURNED STATUS DOES NOT INDICATE AN LRC ERROR

SEQ 0016
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TEST 25:
CCP MODE ONLY
THIS TEST CHECKS THAT A PARITY ERROR CONDITION CAN BE DETECTED
AND RETURNS THE RECEIVE BUFFER WITH A PARITY CONDITION.
TO GENERATE THE PARITY ERROR A SPECIALLY FORMATTED BUFFER IS OUTPUT
WITH AN EVEN PARITY DATA CHARACTER FOLLOWING THE CONTROL CHARACTERS

ERROR REPORTS:
gg{ll';ESTl FAIL# SHBE CSRO CSR2 CSR4 CSRé6
1=FAILURE IN TEST INITIALIZATION ROUTINES
§=RECEIVE BUFFER FAILED TO LOAD
=TRANSMIT BUFFER FAILED TO LOAD
4=THERE IS NO OUTPUT RESPONSE FROM THE PARITY ERROR CONDITION
5=0UTPUT IS NOT A BUFFER OUT COMMAND
6=RETURNED ENDING MEMORY ADDRESS NOT CORRECT
7=RETURNED STATUS DOES NOT INDICATE A PARITY ERROR

TEST 26:
THIS TEST CHECKS THAT THE CHARACTER COUNT WILL CORRECTLY COUNT
TO THE HIGHEST VALUE OF CORE AVAILABLE (ABOVE THE DIAGNOSTIC)
BY USING THE SAME BUFFER FOR RECEIVE AS IS TRANSMIT
AND TESTING THAT THE ENDING MEMORY ADDRESS RETURNED
OF BOTH THE BUFFERS (XMIT AND RECEIVE) ARE THE SAME

ERROR REPORT:
FAIL #'S
i=FAILURE IN TEST INITIALIZATION ROUTINES
2=RECEIVE BUFFER FAILED TO LOAD
3=TRANSMIT BUFFER FAILED TO LOAD
4=NO BUFFER RETURNED FROM TRANSFER
=COMMAND RETURNED WAS NOT A BUFFER OUT
6=1ST BUFFER HAS INCORRECT ENDING MEMORY ADDRESS
=2ND BUFFER FAILED TO RETURN
10=2ND COMMAND WAS NOT A BUFFER OUT
11=2ND BUFFER HAD INCORRECT ENDING MEMORY ADDRESS
12=BUFFERS RETURNED WERE NOT 1 TRANSMIT & 1 RECEIVE (SHBE=# REC.BUFFERS)

\ll

TEST 27:
THIS TEST WILL CHECK THE LOWER 13 (4K) BIT TRANSMIT AND RECEIVE
BUFFER ADDRESSING (BUFFER ADDRESS=IN AND OUT) BY TRANSMITTING
AND RECEIVING TWO WORD BUFFERS. THE ADDRESSES ARE SEQUENCED BY
WALKING A ONE ACROSS THE RETURNED BUFFER ADDRESS VALUE.
THE RETURNED BUFFER ADDRESSES ARE TESTED FOR BEING CORRECT.

ERROR REPORT:

SEQ 0017

™~
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FAIL #'S

1=FAILURE IN TEST INITIALIZATION ROUTINES

§=CURRENT RECEIVE BUFFER FAILED TO LOAD (SHBE + WAS =N/A)

=CURRENT TRANSMIT BUFFER FAILED TO LOAD (SHBE+WAS=N/A)
4=NO OUTPUT RESPONSE AFTER QUEUEING BUFFERS (SHBE,WAS=N/A)

5=1ST RETURNED BUFFER IS NOT BUFFER OUT
6=1ST RETURNED BUFFER (ENDING MEMORY ADDRESS) NOT CORRECT (SHBE=CORRECT ADDRESS)
7=2ND BUFFER NOT RETURNED

0=2ND RETURNED COMMAND IS NOT BUFFER OUT

=ND RETURNED BUFFER (ENDING MEMORY ADDRESS) NOT CORRECT (SHBE=CORRECT ADDRESS)
=TWO BUFFER OUT COMMANDS RETURNED BUT NOT ONE TX AND ONE RX (SHBE=#OF RX BUFFERS
=EXTRA RETURNED COMMAND AFTER TWO BUFFER OUTS

TEST 30:
THIS TEST WILL CHECK BUS ADDRESSING OF THE HIGHER ORDER
BITS (BITS 14=17) OF THE QUEUED RECEIVE BUFFER AND MULTIPLE DATA
TRANSFERS BY TRANSFERRING A TEN WORD BUFFER TO EACH 4K BOUNDARY
(IN THE TEST RANGE) OUTPUT IS FROM ‘‘TBUF'’

; * THE TEST WILL EXECUTE ONLY IF SUFFICIENT CORE EXISTS.
“  ERROR REPORT:

FAIL #°'S
1=FAILURE IN TEST INITIALIZATION ROUTINES
2=THE RECEIVE BUFFER-IN COMMAND FAILED TO LOAD (SHBE,WAS=0)
3=THE TRANSMIT BUFFER-IN COMMAND FAILED TO LOAD (SHBE,WAS=0)
4=CURRENT TRANSFER FAILED TO INDICATE A COMPLETION (SHBE,WAS=0)
5=RETURNED COMMAND WAS NOT A BUFFER OUT
6=RETURNED (TRANSMIT) BUFFER EA-BITS INCORRECT (SHBE+WAS=EA-BIT STATUS)
7=RETURNED (TRANSMIT) BUFFER 16 BIT ADDRESS INCORRECT (SHBE+WAS=ADDRESS)
10=RETURNED (RECEIVE) BUFFER EA-BITS INCORRECT (SHBE+WAS=EA-BIT STATUS!
11=RETURNED (RECEIVE) BUFFER 16 BIT ADDRESS INCORRECT (SHBE+WAS=ADDRESS)
12=TWO RETURNED BUFFERS WERE NOT 1 TX AND 1 RX BUFFER

TEST 31:
THIS TEST WILL CHECK BUS ADDRESSING OF THE HIGHER ORDER BITS
(BITS 14=17) OF THE QUEUED TRANSMIT BUFFER AND MULTIPLE DATA
TRANSFERS BY TRANSFERRING A TEN WORD BUFFER FROM EACH 4K BOUNDARY
(IN THE TEST RANGE) INPUT IS TO RBUF.

* THE TEST WILL EXECUTE ONLY IF SUFFICIENT CORE EXISTS.
ERROR REPORT:
FAIL #'S
1=FAILURE IN TEST INITIALIZATION ROUTINES
§=THE RECEIVE BUFFER-IN COMMAND FAIL TO LOAD (SHBE,WAS=0)
=THE TRANSMIT BUFFER-IN COMMAND FAIL TO LOAD (SHBE,WAS=0)
4=CURRENT TRANSFER FAILED TO INDICATE A COMPLETION (SHBE,WAS=0)
5=RETURNED COMMAND IS NOT A BUFFER OUT
=RETURNED (TRANSMIT) BUFFER EA-BITS INCORRECT (SHBE+WAS=EA-BIT STATUS)

SEQ 0018
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7=RETURNED (TRANSMIT) BUFFER 16 BIT ADDRESS INCORRECT (SHBE+WAS=ADDRESS)
10=RETURNED (RECEIVE) BUFFER EA-BITS INCORRECT (SHBE+WAS=EA=BIT STATUS)

11=RETURNED (RECEIVE) BUFFER 16 BIT ADDRESS INCORRECT (SHBE+WAS=ADDRESS)
12=TWO RETURNED BUFFERS WERE NOT 1 TX AND 1 RX BUFFER

TEST 32:
THIS TEST WILL CHECK MULTIPLE DATA TRANSFERS AND BUS ADDRESSING
BY TRANSFERRING BUFFERS TO EACH INCREMENTAL 4K ABOVE THE DIAGNOSTIC
IN CCP MODE, THE FIRST 4K BOCK (16=20Kk) IS WRITTEN WITH AN
INCREMENTAL PATTERN (40'175) AND TRANSFERRED TO EACH 4K ABOVE
THE DIAGNOSTIC (20K UP
IN BOP MODE, THE FIRST 1024 BYTES OF THE FIRST 4K BOCK (16K) IS
WRITTEN WITH AN INCREMENTAL PATTERN (0=377) AND TRANSFERRED
TO THE START OF EACH 4K ABOVE THE DIAGNOSTIC (20K UP)
TEST WILL RUN ONLY IF 20K OR MORE OF CONTIGUOUS CORE (0 upP)
EXISTS ON SYSTEM.

o o

1=FAILURE IN TEST INITIALIZATION ROUTINES
2=RECEIVE BUFFER FAILED TO LOAD

3=TRANSMIT BUFFER FAILED TO LOAD

4=NO BUFFER RETURNED FROM TRANSFER

5=1ST RETURN WAS NOT A BUFFER OUT

6=TRANSMIT BUFFER RETURN STATUS INCORRECT
7=16=BI1T TRANSMIT ADDRESS INCORRECT
10=EXTENDED TRANSMIT ADDRESS BITS INCORRECT
11=2ND BUFFER (RECEIVE) NOT RETURNED

12=2ND RETURN WAS NOT EXPECTED RECEIVE BUFFER
13=RECEIVE BUFFER RETURNED STATUS INCORRECT
14=16-BI1T RECEIVE ADDRESS INCORRECT
15=EXTENDED RECEIVE ADDRESS BITS INCORRECT
16=RECEIVED DATA CHARACTER INCORRECT

17=2ND BUFFER (TRANSMIT) NOT RETURNED

20=2ND RETURN WAS NOT EXPECTED TRANSMIT BUFFER
21=TWO RETURNED BUFFERS NOT 1TX AND 1 RX BUFFER

TEST 33:
THIS TEST WILL CHECK THE INPUT REQUEST INTERRUPT LOGIC
AND FIRMWARE ARBITRATION BY INITIALIZING THE INPUT REQUEST
VECTOR (XX0) WITH A CORRECT RETURN ADDRESS AND THE OUTPUT REQUEST
VECTOR WITH ADDRESS TO ERROR FLAG ROUTINE.
THE INPUT REQUEST IS FIRST DONE WITH THE PROCESSOR STATUS
DROPPED TO O AND THE INTERRUPT ENABLE BIT NOT SET T0 CHECK
THAT NO INTERRUPT OCCURS WHEN THE 'RDYIN'' (BIT 7-SELO) SETS.
THEN THE INPUT REQUEST IS MADE WITH THE INTERRUPT ENABLE
BIT SET AND THE PROCESSOR STATUS AT O TO CHECK THAT THE INTERRUPT
OCCURS TO THE CORRECT VECTOR ADDRESS
THEN THE PROCESSOR STATUS IS SET TO LEVEL 7 THE REQUEST MADE
WITH THE INTERRUPT ENABLE BIT SET AND TEST THAT THE INTERRUPT DOES

SEQ 0019
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NOT OCCUR UNTIL THE CORRECT PROCESSOR STATUS IS REACHED.

A <
=FAILURE IN TEST INITIALIZATION ROUTINES (WAS=N/A)

RDY=IN'' FAILED TO SET (WAS=N/A

ILLEGAL INTERRUPT OCCURED ( W/PS @ 7) (WAS=VECTOR TRAPPED TO)
FIRMWARE INITIALIZE FAILED AFTER RDYIN SET (WAS=N/A)

2ND RDYIN FAILED TO SET (WAS=N/A)

INTERRUPTED TO WRONG VECTOR ADDRESS (WAS=VECTOR TRAPPED TO)
FIRMWARE FAILED TO INIT. AFTER INPUT INTERRUPT (WAS=N/A)

=3RD RDY=IN FAILED TO SET (WAS=N/A)

=INTERRUPT OCCURED AT LEVEL OTHER THAN SPECIFIED (WAS=PS WORD)

TEST 34:
THIS TEST WILL CHECK THAT AN OUTPUT REQUEST INTERRUPT CAN CORRECTLY BE
EXECUTED TO INTERRUPT VECTOR XX4& AND TEST THE LOGIC AND
FIRMWARE ARBITRATION.
A TRANSMIT AND RECEIVE BUFFER IS QUEUED TO LINE 0
WITH THE PROCESSOR STATUS AT O AND THE '‘IEQ'' BIT NOT SET
TEST IS DONE TO CHECK THAT NO INTERRUPT OCCURS.
THE FIRMWARE IS REINITIALIZED THE BUFFERS REQUEUED
WITH THE ''IEQ"' BIT SET AND THE PROCESSOR STATUS AT 0
A CHECK IS DONE TO TEST THAT THE INTERRUPT OCCURS TO THE
OUTPUT VECTOR ADDRESS XX&.

AL #°S

1=FAILURE IN TEST INITIALIZATION ROUTINES (WAS=N/A)

2=RECEIVE BUFFER FAILED TO LOAD

3=TRANSMIT BUFFER FAILED TO LOAD

4=BUFFER FAILED TO RETURN

5=ILLEGAL INTERRUPT WITHOUT IEO SET (WAS=VECTOR TRAPPED TO)
=¢ND RECEIVE BUFFER FAILED TO LOAD

7=2ND XMIT BUFFER FAILED TO LOAD

10=INTERRUPT OCCURED TO WRONG VECTOR (WAS=VECTOR TRAPPED TO)
11=INTERRUPT FIALED WHEN ‘RDYOUT'' SET (WAS=N/A)

12=BUFFER FAILED TO RETURN (NO ‘RDYOUT') (WAS=N/A)

SEQ 0020
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.LIST SEQ,BIN,LOC

LENABL = ABS,AMA
TITLE CZKMEAO DMST1-DA DYNAMIC
;*COPYRIGHT (C) 1981

:*DIGITAL EQUIPMENT gORP.
: *MAYNARD, MASS. 01754

i
;*PROGRAM BY R.BALDWIN, R. J. COLLINS
%

:*THIS PROGRAM WAS ASSEMBLED USING THE PDP=-11 MAINDEC SYSMAC
::PACKAGE (MAINDEC-11-DZQAC-C5), JAN, 1981.

TN=1
SSUR=160228R 4 : sHALT ON ERROR, LOOP ON TEST, INHIBIT ERROR TYPOUT

67400
$TN=1
$N=1

$E=1

POP25P=22626
POPPOP=22626
POPSP=005726

sPOP THE STACK TWICE
sPOP THE STACK ONCE

.SBTTL BASIC DEFINITIONS
;'INITIA%168DRESS OF THE STACK POINTER *%% 1100 =«

STACK=
.EQUIV EMT,ERROR
.EQUIV 10T,SCOPE

s *MISCELLANEOUS DEFINITI
HT= 11

LF= 12

CR= 15
CRLF= 200
PS= 177776

.EQUIV PS,PSW
STKLMT= 1772774
PIRG= 177772
DSWR= 177570
DDISP= 177570

s:BASIC DEFINITION OF ERROR CALL
s +:BASIC DEFINITION OF SCOPE CALL

ONS

;:CODE FOR HORIZONTAL TAB

::CODE FOR LINE FEED

::CODE FOR CARRIAGE RETURN

::CODE _FOR CARRIAGE RETURN-LINE FEED
; :PROCESSOR STATUS WORD

ssSTACK LIMIT REGISTER

: :PROGRAM INTERRUPT REQUEST REGISTER
s sHARDWARE SWITCH REGISTER

: tHARDWARE DISPLAY REGISTER

: *GENERAL PURPOSE REGISTER DEFINITIONS

: *PRIORI
PRO=
PR1=
PR2=

-]

[+ 3

1]
=SSO I ITLINTICICINNC
OO =< NNO\NOWVMSWN=O

o

: :GENERAL REGISTER
: ;GENERAL REGISTER
: sGENERAL REGISTER
s :GENERAL REGISTER
: :GENERAL REGISTER
: GENERAL REGISTER
: ;GENERAL REGISTER
: ;GENERAL REGISTER
:sSTACK POINTER

: :PROGRAM COUNTER

LEVEL DEFINITIONS
; ;PR

SEQ 0027
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MACY11 30A(1052) 21-0CT-81
BASIC DEFINITIONS

PR3= 140
PR4= 00
PRS= 40
PR6= 00
PR7= 340
:%''SWITCH REGI
SW15= 100000
SWi4é= 40000
SW13= 20000
SWwi2= 10000
SWil= 4000
SW10= 2000
sWw09= 1000
SW08= 400
SW07= 200
SW0é= 100
SW05= 40
SW04= 20
Sw03= 10
SWi2= 4
SWwo1= 2
Swoo= 1
.EQUIV SW09,Sw9
.EQUIV SW08,Sw8
EQUIV SW07,Sw7
EQUIV SW06,SWwé
EQUIV SW0S5,SWS
EQUIV SW04,SWé
LEQUIV SW03,Sw3
.EQUIV SW02,Sw?
EQUIV SW01,Sw1
.EQUIV SW00,Sw0
s *DATA
BIT15= 10000
BIT14= 40000
BIT13= 20000
8IT12= 10000
BIT11= 4000
8IT10=" 2000
BIT09= 1000
BITO8= 400
8IT07= 200
BITO6= 100
BITO0S5= 40
BIT04= 20
8IT03= 10
BIT02= 4
BITO01= 2
BITO0= 1
.EQUIV BIT09.BITY
.EQUIV BIT08,BIT
.EQUIV BITO07,BIT
.EQUIV BIT06,BIT6
.EQUIV BITO0S5.BITS

c 3
08:50 PAGE 28

JORITY LE
IORITY LE
IORITY LE
IORITY LE

$SPRIORITY LE

STER'' SWITCH DEFINITIONS

SEQ 0028
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1180 .EQUIV BIT04.BIT4

1181 .EQUIV BIT03.8IT3

1182 .EQUIV BIT02.8IT2

1183 .EQUIv BITO01.8IT1

}}gg .EQUIV BIT00.BITO

1186 +«BASIC "'CPU'' TRAP VECTOR ADDRESSES

1187 000004 ERRVEC= & ::TIME OUT AND OTHER ERRORS
1188 000010 RESVEC= 10 : ;RESERVED AND ILLEGAL INSTRUCTIONS
1189 000014 TBITVEC=14 ST BIT

1190 14 TRTVEC= 14 : ;TRACE TRAP

1191 000014 BPTVEC= 14 : :BREAKPOINT TRAP (BPT)
1192 000020 I0TVEC= 20 : S INPUT/OUTPUT TRAP (IOT) #«SCOPE*+
1193 00024 PWRVEC= 24 : :POWER FAIL

1194 000030 EMTVEC= 30 : SEMULATOR TRAP (EMT) *+ERROR%+
1195 000034 TRAPVEC= ::"TRAP'' TRAP

1196 000060 TKVEC= 60 ::TTY KEYBOARD VECTOR

1197 000064 TPVEC= 664 ::TTY PRINTER VECTOR

1198 000240 PIRGVEC=240 : :PROGRAM INTERRUPT REQUEST VECTOR
}533 .SBTTL MEMORY MANAGEMENT DEFI™ITIONS

1585 ;*KT11 VECTOR ADDRESS

1582 000250 MMVEC= 250

}sgg ;*KT11 STATUS REGISTER ADDRESSES

1207 177572 SRO= 177572

1208 177574 SR1= 177574

1209 177576 SR2= 177576

}%}? 172516 SR3= 172516

}5}% ;*KERNEL "'I'* PAGE DESCRIPTOR REGISTERS

1214 172300 KIPDRO= 172300

1215 172302 KIPDR1= 172302

1216 172304 KIPDR2= 172304

1217 172306 KIPDR3= 172%06

1218 172310 KIPDR4= 172310

1219 172312 KIPDRS= 172312

1220 172314 KIPDR6= 172314

}ggg 172316 KIPDR7= 172316

}552 ;*KERNEL "'I'* PAGE ADDRESS REGISTERS

1225 172340 KIPARO= 172340

1226 172342 KIPAR1= 172342

1227 172344 KIPAR2= 172344

1228 172346 KIPAR3= 172346

1229 172350 KIPARG= 172350

1230 172352 KIPARS= 172352

1231 172354 KIPARG= 1723564

}ggg 172356 KIPAR7= 172356

1234 .SBTTL TRAP CATCHER

1235
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TRAP CATCHER

.=0
s*ALL UNUSED LOCATIONS OF THE VECTOR AREA CONTAIN
;%A .42, JOT"" SEQUENCE TO CATCH AND PROCESS ILLEGAL
:*TRAPS AND INTERRUPTS THAT MIGHT OCCUR.
:*THE 10T TRAP WHICH IS TAKEN ON THE ILLEGAL TRAP/INT
:*TRAPS TO THE $SCOPE ROUTINE WHICH (IF THE RETURN PC IS
:*LESS THAN 1002) JUMPS TO THE SERROR ROUTINE.
:*THE SERROR ROUTINE WILL REPORT THE ERROR AS FOLLOWS:
i PC=YYYYYY UNEXPECTED TRAP TO XXX
:*AND RETURN TO THE PROGRAM AT PC=YYYYYY+2
:*WHERE XXX=LOCATION OF ILLEGAL TRAP
i YYYYYY=PC AT TIME OF TRAP
:*NOTE: IF THE PROCESSOR IS NOT AN 11/05 THE PROGRAM
i CAN BE STARTED AT ADDRESS 0 AS WELL AS ADDRESS 200.

$40CAT: HALT JIHALT
BR .=100 ::?§¢gg§ TO 177700 & TIME OUT (NOT ON
.WORD  BEGIN S:VECTOR TO STARTING ADDRESS
.uggg 340 :3WITH PRIORITY LEVEL 7
DISPREG:.WORD 0 ; :SOFTWARE DISPLAY REGISTER
SWREG: .WORD 0 ::SOFTWARE SWITCH REGISTER
.SBTTL STARTING ADDRES(ES)
Jgszo SNBEGIN ;:GO TO START OF PROGRAM
ﬁgg ;ALLOW INSERTION OF KMC DEBUF DUMP

JMP MONIT sRETURN TO MONITOR

SEQ 0030

™~



F 3
CZKMEAO DMS11-DA DYNAMIC MACY11 30A(1052) 21-0CT-81 08:50 PAGE 31

CZKMEA.P11 20-0CT-81 17:05 COMMON TAGS SEQ 0031
1222 .SBTTL COMMON TAGS
1267 Rl e T T e ey
1268 *TH]S TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
}%?8 'USED IN THE PROGRAM.
1271 001100 .=1100
1272 001100 $CMTAG: ;s START OF COMMON TAGS
1273 001100 000000 $PASS: .WORD O s sCONTAINS PASS COUNT
1276 001102 000 $TSTNM: .BYTE 0 ;;CONTAINS THE TEST NUMBER
1275 001103 000 SERFLG: .BYTE 0 +sCONTAINS ERROR FLAG
1276 001104 000000 $ICNT: .WORD O 2 sCONTAINS SUBTEST JTERATION COUNT
1277 001106 000000 SLPADR: .WORD O :sCONTAINS SCOPE LOOP ADDRESS
1278 001110 000000 SLPERR: .WORD 0 s ;CONTAINS SCOPE RETURN FOR ERRORS
1279 001112 $ERTTL: .WORD O s ;CONTAINS TOTAL ERRORS DETECTED
1280 001114 $ITEMB: .BYTE O ;;CONTAINS ITEM CCNTROL BYTE
1281 001115 001 SERMAX: .BYTE 1 :sCONTAINS MAX. ERRORS PER TEST
1282 001116 000000 $ERRPC: .WORD O 2 2CONTAINS PC OF LAST ERROR INSTRUCTION
1283 001120 000000 $GDADR: .WORD O 2 sCONTAINS ADDRESS OF 'GOOD' DATA
1284 001122 000000 $8DADR: .WORD 0 :sCONTAINS ADDRESS OF 'BAD' DATA
1285 0011246 000000 $GDDAT: .WORD O s s CONTAINS 'GOOD' DATA
1286 001126 000000 $BDDAT: .WORD O ;sCONTAINS °'BAD' DATA
1287 001130 000000 .WORD O ; sRESERVED==NOT TO BE USED
1288 001132 000000 .WORD O
1289 001134 000 $SAUTOB: .BYTE O s sAUTOMATIC MODE INDICATOR
1290 001135 000 $INTAG: .BYTE O s s INTERRUPT MODE INDICATOR
1291 001136 .WORD O
1292 001140 177570 SWR: .WORD DSWR s sADDRESS OF SWITCH REGISTER
1293 001142 177570 DISPLAY: .WORD DDISP s sADDRESS OF DISPLAY REGISTER
1296 0011446 177560 $TKS: 177560 +sTTY KBD STATUS
1295 001146 177562 $TKB: 177562 ::TTY KBD BUFFER
1296 001150 177564 $TPS: 177564 s2TTY PRINTER STATUS REG. ADDRESS
1297 001152 177566 $TPB: 177566 s:TTY PRINTER BUFFER REG. ADDRESS
1298 001154 000 SNULL: .BYTE 0 s s CONTAINS NULL CHARACTER FOR FILLS
1299 001155 002 SFILLS: .BYTE 2 s ;CONTAINS # OF FILLER CHARACTERS REOUIRED
1300 001156 012 $FILLC: .BYTE 12 ..INSERT FILL CHARS. .A.FTER A 'LINE _FEED'
1301 001157 000 $TPFLG: .BYTE 0O ;"'TERMINAL AVAILABLE'' FLAG (BIT<07>=0=YES)
1302 001160 000000 $TMPO: .WORD O ..USER DEF INED
1303 001162 000000 $TMP1: .WORD 0 :sUSER DEF INED
1306 001164 000000 $TMP2: .WORD O ..USER DEF INED
1305 001166 000000 $TIMES: 0 NUMBER OF ITERATIONS
1306 001170 000000 SESCAPE:0 ESCAPE ON ERROR ADDRESS
1307 001172 177607 000377 $BELL: .ASCIZ <207><377><377> ..CODE FOR BELL
1308 001176 077 $QUES: .ASCII s ;QUESTION MARK
1309 001177 015 $CRLF: .ASCII <15> ..CARRIAGE RETURN
1310 001200 000012 SLF: ASCIZ <12 LINE FEED
1311 ttttttttttttttttttttttttttltttttttttttttttttttttttttttttttttttt
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CZKMEA.P11 20-0CT-81 17:05 ERROR POINTER TABLE SEQ 0032
H}g .SBTTL ERROR POINTER TABLE
1314 ;*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.
1315 :*THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN
1316 :*LOCATION SITEMS. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.
1317 :*NOTE1: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).
}%}3 :*NOTE2: EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:
1320 i* EM ::POINTS TO THE ERROR MESSAGE
1321 o DH ::POINTS TO THE DATA HEADER
1322 i* DT ::POINTS TO THE DATA
%52 i* DF ::POINTS TO THE DATA FORMAT
1325
1326 001202 $ERRTB:
}ggg :ERROR MESSAGE TABLE
1329 001202 033050 034446 035562 EMO1,DH1,DT1,DF1
1330 001210 036042
1331 001212 033101 034507 035574 EM02,DH2,DT2,DF1
1332 001220 036042
1333 001222 033137 034507 035574 EM03.DH2.DT2.DF1
1336 001230 036042
1335 001232 033164 034553 035610 EMO4 ,DH3,DT3,DF1
1336 001240 036042
1337 001242 033211 034612 035622 EMOS ,DH4 ,DT4 ,DF 1
1338 001250 036042
1339 001252 033240 034612 035622 EMO6,DH4 ,DT4 ,DF 1
1340 001260 036042
1341 001262 033270 034707 035644 EMO7 ,DHS,.DTS5,DF1
1342 001270 036042
1343 001272 033324 034707 035644 EM10,DHS,.DTS5,DF1
1346 001300 036042
1345 001302 033347 034707 035644 EM11,DH5.DTS5,DF1
1346 001310 036042
1347 001312 033405 034707 035644 EM12,DHS,DTS,DF1
1348 001320 036042
1349 001322 033444 034612 035622 EM13,DH4,DT4 ,DF 1
1350 001330 036042
1351 001332 033503 034612 035622 EM14,DH4,DT4 ,DF1
1352 001340 036042
1353 001342 033542 034707 035644 EM15,DHS5,DTS,DF1
1354 001350 036042
1355 001352 033602 034612 035622 EM16,DH4,DT4,DF1
1356 001360 036042
1357 001362 033641 034707 035644 EM17,DHS,DTS,DF1
1358 001370 036042
1359 001372 033702 034707 035644 EM20,DHS5,DTS,DF1
1360 001400 03604
1361 001402 033742 034707 035644 EM21,DH5.DTS5,DF1
1362 001410 036042
1363 001412 034001 034707 035644 EM22,DH5,DTS,DF1
1364 001420 036042
1365 0014§2 034021 035260 035750 EM23,.DH11.,DT11,DF1
1366 001430 036042
1367 001432 034054 034707 035644 EM24 ,DHS,DTS,DF1
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1368 001440 036042
1369 001442 0%2106 034707 035644 EM25,DHS,DTS,DF1
1370 001450 O o«g
1371 001452 034143 034707 035644 EM26,DHS DTS ,DF 1
1372 001460 036042
1373 001462 034170 035454 036016 EM27 ,DH13,DT13,DF1
1374 001470 03604%
1375 001472 034222 035164 035726 EM30,DH10,DT10,DF1
1376 001500 036042
1377 001502 034275 035164 035726 EM31,DH10,DT10,DF1
1378 001510 036042
1379 001512 034350 035260 035750 EM32,DH11,DT11,0F1
1380 001520 03604%
1381 001522 034373 035365 035774 EM33.DH12,DT12,DF1
1382 001530 036042
1383 001532 034420 035365 035774 EM34,DH12,DT12,DF1
1384 001540 036042
1385
1386
1387 001542 BEGIN:
1388 .SBTTL INITIALIZE THE COMMON TAGS
1389 ::CLEAR THE COMMON TAGS (SCMTAG) AREA
1390 001542 012706 001100 MOV #SCMTAG,R6 ::FIRST LOCATION TO BE CLEARED
1391 001546 005026 | CLR (R6) + ::CLEAR MEMORY LOCATION
1392 001550 022706 001140 CMP #SWR,R6 ;:DONE?
1393 001554 001374 BNE =6 ::LO0OP BACK IF NO
1394 001556 012706 001100 MOV #STACK , SP $:SETUP THE STACK POINTER
1395 ;;INITIALIZE A FEW VECTORS
1396 001562 012737 020550 000020 MOV #$SCOPE ,a#10TVEC ;:10T VECTOR FOR SCGPE ROUTINE
1397 001570 012737 000340 000022 MOV #340,a#10TVEC+2 ;:LEVEL 7
1398 001576 012737 021034 000030 MOV #SERROR, S#EMTVEC : ;EMT VECTOR FOR ERROR ROUTINE
1399 001604 012737 000340 000032 MOV #3640 ,a#EMTVEC+2 ::LEVEL 7
1400 001612 012737 024256 000034 MOV #STRAP,#TRAPVEC ::TRAP VECTOR FOR TRAP CALLS
1401 001620 012737 000340 000036 MOV #3640 ,a#TRAPVEC+2; LEVEL 7
1402 001626 013737 020462 020454 MOV SENDCT,SEOPCT  :;SETUP END-OF=-PROGRAM COUNTER
1403 001634 005037 001166 CLR $STIMES ::INITIALIZE NUMBER OF ITERATIONS
1404 001640 005037 001170 CLR SESCAPE ::CLEAR THE ESCAPE ON ERROR ADDRESS
1405 001644 112737 000001 001115 MOVB  #1,SERMAX ::ALLOW ONE ERROR PER TEST
1406 001652 012737 001652 001106 MOV #..SLPADR ::INITIALIZE THE LOOP ADDRESS FOR SCOPE
1407 001660 012737 001660 001110 MOV #..SLPERR :*SETUP THE ERROR LOOP ADDRESS
1408 ::SIZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS
1409 ::EQUAL TO A '=1'", SETUP FOR A SOFTWARE SWITCH REGISTER.
1410 001666 013746 000004 MOV @#ERRVEC,-(SP) ;;SAVE ERROR VECTOR
1411 001672 012737 001726 000004 MOV #64S,MERRVEC  ::SET UP ERROR VECTOR
1412 001700 012737 177570 001140 MOV #DSWR, SWR ::SETUP FOR A HARDWARE SWICH REGISTER
1413 001706 012737 177570 001142 MOV #DDISP,DISPLAY ::AND A HARDWARE DISPLAY REGISTER
1414 001714 022777 177777 177216 CMP #-1,aSWR :3TRY TO REFERENCE HARDWARE SWR
1415 001722 001012 BNE 668 +:BRANCH IF NO TIMEOUT TRAP OCCURRED
1416 :3AND THE HARDWARE SWR IS NOT = -1
1417 001724 000403 BR £5% S:BRANCH IF NO TIMEOUT
1418 001726 012716 001734 648: MOV #658, (SP) ::SET UP FOR TRAP RETURN
1419 001732 wmg RTI
16420 001734 012737 000176 001140 658: MOV #SWREG, SWR :;POINT TO SOFTWARE SWR
1421 001742 012737 000174 001142 MOV #DISPREG,DISPLAY
}25% 001750 012637 000004 66$: MOV (SP)+,a#ERRVEC ;:RESTORE ERROR VECTOR
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CZKMEA.PT 20-0CT-81 17:05 SEQ 0034

—
P 2
"
E

.SBTTL _TYPE PROGRAM NAME

1425 ;:TYPE THE NAME OF THE PROGRAM IF FIRST PASS

1426 001754 005227 177777 INC #-1 ::FIRST TIME?

1427 001760 001046 BNE 678 :;BRANCH IF NO

1428 001762 022737 020514 000042 CMP #SENDAD ,a#42  ::ACT=11?

1429 001770 001442 BEQ 67$ +:BRANCH IF YES

1430 001772 104401 002030 TYPE 688 ::TYPE ASCIZ STRING

1431 .SBTTL GET VALUE FOR SOFTWARE SWITCH REGISTER

1432 001776 005737 000042 ST V7% ) ;;ARE WE RUNNING UNDER XXDP/ACT?
1433 002002 001006 BNE 69$ ::BRANCH IF YES

1434 002004 023727 001140 000176 CMP SWR ,#SWREG ::SOFTWARE SWITCH REG SELECTED?
1435 002012 001005 BNE 708 ::BRANCH IF NO

1436 002014 104406 GTSWR ::GET SOFT=SWR SETTINGS
1437 002016 000403 BR 708

1438 002020 112737 000007 001134 69%: MOVB  #1,SAUTOB ::SET AUTO-MODE INDICATOR
1439 002026 708:

1440 002026 000423 BR 678 ::GET OVER THE ASCIZ

1441 ::688: _ASCIZ <CRLF>#CZKMEAO DMS11-BA DYNAMIC DIAGNOSTICAH<CRLF>
1442 002076 678:

1443 002076 012706 001100 MONIT: MOV #STACK, SP

1444 002102 012737 000340 177776 MOV #340,PSW

1445 002110 012737 000006 000004 MOV #6.4 ;SET 4 FOR TIMEOUT

1446 002116 012737 000004 000006 MOV 86,6

1447 002126 005737 002256 TST 4$

1448 002130 001004 BNE 18

1449 002132 004737 027452 JSR PC,GETCOR

1450 136 005137 002256 COM X3

1451 002142 004737 021660 18: JSR PC,a#STKINT :ENABLE TTY INTS.
1452 002146 104401 002154 TYPE 65s ::TYPE ASCIZ STRING

1453 002152 000421 BR 648 ::GET OVER THE ASCIZ
1454 ::658: LASCIZ <15><12>/(1)DIAG.TEST(2)CONFIGURATION /
1455 002216 648

1456 002216 104412 RDOCT

1457 002220 012600 MOV (SP)+,R0

1458 002222 022700 000001 CMP #1,R0 :LOGIC TEST?

1459 002226 001451 BEQ LOOP

1460 002230 022700 000002 CMP #2.R0O :CONF1G. MODE?

1461 002234 001003 BNE 3$

1462 002236 004737 024424 JSR PC.MODTAB :MODIFY THE CONFIGURATION ROUTINE
1463 002242 000715 BR MONIT

1464 002244 3$:

1465 002244 104401 002252 TYPE 678 ::TYPE ASCIZ STRING

1466 002250 000401 BR 66$ ::GET OVER THE ASCIZ
1467 ::67%: _ASCIZ 72

1468 002254 668 :

1469 002254 000710 BR MONIT

1470 002256 000000 48: 0 ;SWITCH

LAl

%2;2 ;KMC11 DEVICE REGISTERS AND INTERRUPT BEGINOL
1475 002260 000001 SELO: 1

1476 002262 000001 SEL1 1

1477 000001 SEL2: 1

1478 002266 000001 SEL3: 1

1479 002270 000001 SEL4: 1

™~
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1480 002272 000001 SELS: 1
1481 002274 000001 SEL6: 1
1482 002276 000001 SEL7: 1
1483 002300 000001 VECIN: 1
1484 002302 000001 VECOUT: 1
1485 002304 000001 PRIIN: 1
1486 002306 000001 PRIOUT: 1
1487 002310 000 FSWSW: .BYTE
1488 002311 000 MODE: .BYTE :200=BOP, 0=CCP
1489 002312 000 LINEB: .BYTE
}23? 002313 000 CLINE: .BYTE
1492 .EVEN
1493 002314 000000 CRC32F: 0 ;CRC32 ENABLED (0=NO 200=YES)
1496 002316 000000 CLKDAT: 0 ;MODE OF DATA LOOP (I/E) (200=INT. 0=EXT.)
1495 002320 000000 CHRADR: 0 sHOLD CHARACTER OF RDCHR FOR ECHO
1496 002322 000000 CURLUR: 0 sCURRENT LINE UNIT REGISTER UNDER TEST
1497 002324 000 CURDAT: .BYTE s CURRENT DATA
1498 002325 000 CNTBIT: .BYTE :UPPER BYTE TO CONTAIN CONTROL BIT
1499 002326 000000 CONBIT: ,WORD ;CONTROL BIT
1500 002330 000000 MODMSK : 0
1501 002332 000000 TYPFLG: 0
1502 002334 000000 SAVE:  .WORD
1503
1504
1505
1506 C02336 000000 HADDR: 0 sHIGH ADDRESS
1507 002340 000000 XBITS: 0 ;EXTENDED ADDRESS BITS
1508 002342 000000 CSRO: 0
1509 002344 000000 CSR2: 0
1510 002346 000000 CSR4: 0
1511 002350 000000 CSR6: 0
1512
1513
i
1516 002352 012706 001100 LOOP: MOV #STACK, SP
1517 002356 004737 030270 JSR PC ,LPARND ;DISPLAY UNITS NEEDING LOOP CONNECTORS
1518 002362 012737 026232 024360 RESTRT: MOV #KMCTAB-12,CURTAB
1519 002370 004737 026506 JSR PC,GETKMC sGET NEXT ENABLED KMC11
1520 002374 0004%2 BR SETUP :BR=NO KMCS ENABLED
1521 002376 005037 001102 ILTEST: CLR STSTNM
1522 002402 005037 002460 CLR TSTNUM
1523 002406 005037 002330 CLR MODMSK sSET MODE MASK
1526 002412 105737 002311 TSTB MODE s CHECK FOR MODE
1525 002416 100403 BMI 118 :SKIP IF BOP MODE
1526 002420 012737 170000 002330 MOV #170000,MODMSK  ;SET CCP MODE MASK
1527 002426 004737 021660 118: JSR PC,a#STKINT sENABLE TTY INPUT
1528 002432 005037 177776 CLR PSW ;ENABLE INTS.
1529 002436 000137 002536 JMP STTEST
1530 002442 004737 024362 SETUP: JSR PC,SETTAB sSETUP CONFIGURATION TABLE
1531 002446 000137 002352 JMP LOOP
1532 000004 10T=4
1533 002452 000000 ERNUM: 0 s INDICATES FAILURE NUMBER
1534 002454 000000 CURLIN: 0 sCURRENT LINE # UNDER TEST
1535 002456 000000 CUNIT: 0 s CURRENT LINE UNIT # UNDER TEST
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1536 002460 000000 TSTNUM: 0 sCURRENT TEST #
1537 002462 000000 SHBE: 0
1538 002464 000000 WAS : 0
1539 002466 000000 Xoutr: 0
1540 002470 000000 ROUT: O )
1541 002472 000000 XRET: O JRETURN TRANSMIT BUFFER ADDR.
154% 002474 000000 RRET: 0 JRETURN RECEIVE BUFFER ADDR.
1543 002476 000000 CUREA: 0
1544 002500 000000 CURBUF: 0
1545 002502 000000 MAPADR: 0
1546 002504 000000 RECEA: 0 sREC. BUFFER EA
1547 002506 000000 RECBUF: 0 JREC. BUFFER ADR
1548 002510 000000 RETEA: 0 :ADDR BUF. SHOULD RETURN
1549 002512 000000 RETADR: 0 sADDR BUF. SHOULD RETURN
1550 002514 000000 RETBUF: 0
1551 002516 000000 CHAR: O
}ggg 002520 177770 NXMADR: =10 JNON=EXISTANT MEMORY ADDR
1554 002522 000000 BUFADR: 0 ;16 BIT ADDRESS OF BUFFER
1555 002524 000000 BUFEA: 0 sEA BITS OF BUFFER (BITS 17416 IN 15+14)
1556 002526 000000 BUFCNT: 0 : CHARACTER COUNT OF BUFFER
}ggg 002530 000000 RBUFSZ: 0 ;FLAG FOR CONTROL OF REC. BUFFER
1559 002532 100000 BADDR: 100000 :BASE ADDRESS OF BUFFER
1560 002534 000000 CCTST: O sCHAR. CNT UP TO 8K BYTES OVER DIAG
1561 0025 004737 030616 STTEST: JSR PC,INTPRM JPRIME INTTERRUPT VECTORS
1562 002542 004737 030020 JSR PC.LDMODE sLOAD FIRMWARE ACCORDING TO CONFIG.
1563 002546 005037 177776 CLR PSW
1564 IR AR AR AR AR AR AR AR AR AR AN AR AR AR R AR N RRA AR NRA RN,
1565 JINTTST
1566 sTHIS TEST WILL CHECK FOR THE PRESENCE OF THE
1567 sCURRENTLY ENABLED KMC-=11 BY INITIALIZING THE
1568 sFIRMWARE AND TESTING THAT THE FIRMWARE RESPONDS
1569 :BY CLEARING BSELZ2
1570 PN AR AR AR AR AR AR AR AR AR RN AR AR AR RN RN R
1571 ;TEST 1
1572 SRR RN R AR AR AR RN AR NN AR AA RN R AR AR AR AARAARRR P RN RARE
1573 002552 000004 TST1:  SCOPE
1574 002554 012737 000001 002460 MOV #1,TSTNUM sLOAD THE WD OF THIS TECT
1575 002562 004737 030244 JSR PC,SETLIN sSETUP THE FIRST LINE
1576 002566 012737 002574 001110 MOV #18,SLPERR :LOAD LOOP ADDRESS (LOOP ON ERROR)
1577 002574 012737 000001 002452 1%: MOV #1 ,ERNUM
1578 002602 005037 002462 CLR SHBE
1579 2606 013746 000004 MOV ané,-(SP)
1580 002612 012737 002712 000004 MOV #3844 sTEST FOR PRESENCE OF KMC=11 #=1
1581 002620 012700 000015 MOV #15.R0 JWATCH=-DOG
1ss§ 002624 112777 000377 177432 MOVB  #377,@SEL2
1583 002632 005077 177422 CLR asSELO ;*:CLEAR RUN, IF UP
1584 002636 012777 040000 177414 MOV #40000,8SELO MASTER CLR.
1585 00264 015777 100000 177406 MOV #100000,3SELO  :RUN
1586 002652 012637 000004 MOV (SP) +,a#4 sRESET LOC & + SP
1587 002656 005037 001160 CLR $TMPO
1588 002662 105237 001160 2%: INCB $TMPO JWAIT LOOP
1589 2 001375 BNE 2$
1590 002670 105777 177370 TST8 aSEL2
1591 002674 001413 BEQ JFIRMWARE INITIALIZED
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159; 002676 005300 DEC RO
1593 002700 001370 BNE 2% ;TRY AGAIN
1596 002702 012737 000002 002452 MOV #2 ,ERNUM sFIRMWARE FAILED TO INITIALIZE #=2
1595 002710 000403 BR 31§ : SK1P
1596 002712 3s: ;CURRENT KMC-11 DEVICE ADDRESS FAILED TO RESPOND
1597 002712 022626 POPPOP sFIX THE STACK
1598 002714 012637 000004 MOV (SP)+, a4
1599 002720 318:
1600 002720 104001 ERROR+ 1
1601 002722 000724 BR 18 ;LOOP @18
1602 002724 48:
1603 IR AR AR AR AR AN R AR RN AR ARARRAANARRRANNRR AR
1604 s INRDY
1605 sTHIS TEST CHECKS THAT THE READY IN BIT (BIT7-SELO) IS
1606 sINITIALIZED AND CONTROLLED BY THE FIRMWARE. THE READY IN
1607 ;8IT IS TESTED FOR BEING INITIALLY CLEARED THEN
1608 sTHE REQUEST IN BIT (BIT5-SELO) IS SET AND READY IN
1609 ;IS TESTED FOR BEING SET BY THE FIRMWARE, THEN REQUEST IN
}g}? ;1S CLEARED AND READY=IN TESTED FOR BEING CLEARED BY THE FIRMWARE.
161% ;;tttttt;tttttttttttttttttttttttﬁtttttttttﬁtttttt'ttttttttttttttt
161 JTEST 2
1614 IR AR AR AR AN AR R AR AR AR AR AR AR AN N AR R AN R R AR RS
1615 002724 000004 TST2:  SCOPE
1616 002726 012737 000002 002460 MOV #2,TSTNUM sLOAD THE WD OF THIS TEST
1617 002734 004737 030244 JSR PC,SETLIN sSETUP THE FIRST LINE
1618 002740 012737 002746 001110 MOV ll‘.SLPERR sLOAD LOOP ADDRESS (LOOP ON ERROR)
1619 002746 012737 000001 002452 1%: MOV #1 ,ERNUM
1620 002754 005037 002462 CLR SHBE
1621 002760 004737 030664 JSR PC,INTKMC sINITIALIZE KMC=11 FIRMWARE
1622 002764 000442 BR 3s sERROR RET.KMC FAILED TO INITIALIZE FAIL#=1
1623 002766 005237 002452 INC ERNUM h2
1626 002772 105777 177262 TSTB aSELO sRDY=IN SET?
1625 002776 100424 BM] 2% :B=Y REPORT ERROR RDY=IN SET #=2
1626 112777 000040 177252 MOVB #40,aSELO sSET REQUEST IN
1627 005237 002452 INC ERNUM sFAIL #3=REQ IN NOT SET
1628 003012 004737 0;1714 JSR PC,SYNTIM sWAIT A WHILE
1629 003016 105777 177236 TSTE @SELO :DID RDY-IN SET?
1630 003022 1000;5 BPL 4$ ;B=N REPORT ERROR RDYIN FAILED TO SET #=3
1631 003026 142777 040 177226 BIC8B #60,98SELO sCLEAR REQUEST IN
1632 003032 005237 002452 INC ERNUM sREADY IN FAIL TO CLEAR #=4
1633 003036 004737 031714 JSR PC,SYNTIM sWAIT A WHILE
1634 003042 105777 177212 TSTB OSEEO :DID RDY=IN CLEAR?
1635 003046 100025 BPL TST 2sRDY=IN UNDER CONTROL OF FIRMWARE
1636 003050 117737 177204 002464 2%: MOVB @SELO,WAS
1637 003056 013737 002464 002462 MOV WAS, SHBE
1638 003064 042737 000200 002462 BIC  #200,SHBE
1639 003072 3s:
1640 3072 104002 ERROR+ 2
1641 003074 0007%4 BR 1%
1642 117737 177156 002464 4S$: MOVB @SELO,WAS
1643 003106 013737 002464 002462 MOV WAS , SHBE
1646 003112 052737 000200 002462 BIS #200, SHBE
}gzg 003120 000764 BR 3$
1647 IR AR AN AN A AT AN AN AN AR R AR R R AR R AR AN AR R N AR AR AR RN,
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ET VALUE FOR SOFTWARE SWITCH REGISTER SEQ 0038
1648 ;NOOUT

1649 STHIS TEST CHECKS THAT THE KMC=11 FIRMWARE IS NOT

1650 *REQUESTING AN OUTPUT OF ANY TYPE, BY EXAMINING BYTE

1651 :2 OF THE KMC=11 CSR'S

165 :;tttttttttttt'i;'tﬁtt"i'tttt!ttt!!tttttttttl‘ttttt't.'ttttttttt'

165 sTEST

125‘ . : 1 3 383 33 2333388 3333333332333 233333333 333333 3333333323333 2233332323

1655 003122 000004 T§T3:  SCOPE

1656 003124 012737 000003 002460 MOV #3,TSTNUM :LOAD THE WD OF THIS TEST

1657 003132 004737 030244 JSR PC.SETLIN *SETUP THE FIRST LINE

1658 003136 012737 003144 001110 MOV #18,SLPERR :LOAD LOOP ADDRESS (LOOP ON ERROR)

1659 003144 012737 000001 002452 18: MOV #1,ERNUM

1660 003152 005037 002462 CLR SHBE

1661 003156 004737 030664 JSR PC, INTKMC ;INITIALIZE KMC=11 FIRMWARE

1662 003162 000412 BR 3s *B=FIRMWARE FAILED TO INITIALIZE #=1
1663 003164 005237 002452 INC ERNUM :FAIL #2=F IRMWARE REQ. AN OUTPUT

1664 003170 132777 000200 177066 BIT8  #200,3SEL2 :OUTPUT REQUEST POSTED?

1665 003176 001001 BN 28 :B=YES FIRMWARE REQUEST AN OUTPUT #=2
1666 003200 000405 B8R TST4 ;0K GO ON

1667 003202 117737 177056 002464 2%: MOVB  Q@SEL2,WAS

1668 003210 3s: JFIRMWARE FAILED TO INITIALIZE

1669 003210 104003 ERROR+ 3

}2;9 003212 000754 BR 1s

1672 ;;ttttttttttttttttttttitttttttttttttttttttttttttttttttttttttttttt

1673 ;LININT

1674 :THIS TEST WILL DO A LINE INITIALIZE TO ALL LINES (SUCCESSFULLY)
1675 :AND TEST THAT THE READY=IN BIT SETS AFTER EACH INITIALIZE

te7 bwias

1678 ::ttttttt!tttttttttttttltt't!tttttttttttt'Qtttttttttttttttttttttt

1679

1680 ;TEST &

1681 ;;tttttttttttttttttttttttttttttttttttttttittttttttttitttt'ttttttt

1682 003214 000004 TST4:  SCOPE

1683 003216 012737 000004 002460 MOV #4, TSTNUM :LOAD THE WD OF THIS TEST

1684 003224 004737 030244 JSR PC.SETLIN :SETUP THE FIRST LINE

1685 003230 012737 003236 001110 MOV #1$, SLPERR :LOAD LOOP ADDRESS (LOOP ON ERROR)

1686 003236 012737 000001 002452 1$: MOV #1, ERNUM SINIT FAIL #'S

1687 003244 005037 002462 CLR SHBE

1688 003250 004737 030664 JSR PC, INTKMC ;INITIALIZE KMC=11 FIRMWARE

1689 003254 000433 BR 48 REPORT ERROR =~ FIRMWARE HUNG #=1

1690 003256 2s: ;TEST THAT A "REQUEST-IN"" CAN ss DONE

1691 003256 012737 000002 002452 MOV #2 ., ERNUM ;FAIL #2=CAN NOT ISSUE AN INPUT COMMAND
1692 003264 004737 031020 -JSR PC _REQN] :CAN A INITIALIZE IN BE EXECUTED?

1693 003270 000425 B8R 4 *REPORT ERROR RDY=IN FAILED OR OUTPUT REQUEST
1694 :LOAD THE LINE=INIT COMMAND

1695 003272 113777 002454 176766 MOVB  CURLIN,@SEL3  :LOAD LINE #

1696 003300 012777 000400 176766 MOV #400,3SEL6 :ENABLE LINE

1697 003306 005077 176756 CLR °  aSEL4 “NOT USED

1698 :CLEAR THE REQUEST-IN BIT TO NOTIFY FIRMWARE THAT COMMAND IS READY
1699 003312 042777 000040 176740 BIC #40,3SELO :CLEAR REQUEST IN

1700 :NOW TEST THAT THE FIRMWARE CLEARS READY~IN

1701 003320 005237 002452 INC ERNUM :FIRMJARE FAILED TO COMPLETE LINE INIT COMMAND #=3
1702 003324 005037 001160 CLR $TMPO

1703 003330 105777 176724 3s: TST8 @SELO ;RDY=IN CLEAR?

——— e e e ——
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1704 003334 100005 BPL 58 :B=Y
1705 00 333 005537 001160 INC $TMPO
1706 003342 001372 BNE 3s
1707 003344 48:
1708 003344 104004 ERROR+ &
};?8 003346 000733 BR 18 :LOOP @ 18
1711 003350 58:
1712 003350 004737 031650 JSR Pc.geern ;GET THE NEXT LINE NUMBER
1713 003354 000401 BR st ::DONE ALL LINES
};}g 003356 000737 BR 28 :TRY NEXT LINE
171
1719 ::tttttttlttttttttttttttttttttttttl.ttttttttttttttttttttttttttttt
1718 : J0BUF IN )
1719 STHIS TEST WILL ISSUE A '‘TRANSMIT BUFFER'' IN TO EACH LINE
1720 *AND TEST THAT EACH COMMAND ACCEPTS.
1721 : BLANK=XMIT BUFFERS IN
1722 : NON-BLANK=REC BUFFERS IN
1723 :;tttttttttttﬁtttttttttt'tttttttﬁtttttttttttttttttttttttﬁtttttttt
1724
1725 ;TEST S
1726 IR AR R R AR R AR AR AR RN AR AR R T CI AR AR ARy
1727 003360 000004 TST5:  SCOPE
1728 003362 012737 000005 002460 MOV #5,TSTNUM :LOAD THE WD OF THIS TEST
1729 003370 004737 030244 JSR PC.SETLIN :SETUP THE FIRST LINE
1730 003374 012737 003402 001110 MOV #18$, SLPERR :LOAD LOOP ADDRESS (LOOP ON ERROR)
1731 003402 012737 000001 002452 18: MOV #1,ERNUM
1732 003410 005037 002462 CLR SHBE
1733 003414 004737 030664 JSR PC, INTKMC ;INITIALIZE KMC=11 FIRMWARE
};gg 003420 000430 B8R 4 :FIRMWARE FAILED TO INITIALIZE #=1
1736 003422 012737 000002 002452 2%: MOV #2,ERNUM
1737 003430 004737 030760 JSR PC.REQNT :CAN A TRANSMIT BUFF. IN BE EXECUTED?
1738 003434 000422 BR 4$ :CANNOT ISSUE A REQ.IN #=2
1739 :LOAD THE BUFFER IN TO EACH LINE
1740 003436 005237 002452 INC ERNUM
1741 003442 012737 010002 002526 MOV #10002,BUFCNT  ;GET LENGTH OF BUFFER
1742 003450 013777 002526 176616 MOV BUFCNT, @SEL6  :LOAD LENGTH
1743 003456 012777 052260 176604 MOV #TBUF ,8SEL4 :ADDRESS OF BUFFER
1744 003464 113777 002454 176574 MOVB  CURLIN,@SEL3  :LOAD LINE #
1745 :TEST THAT FIRMWARE ACCEPTS COMMAND
1746 003472 004737 031772 JSR PC.INPDUN :TEST THAT INPUT COMPLETED
1747 003476 000401 B8R 4$ SCOMMAND FAIL TO COMPLETE #=3
1748 003500 000404 BR 58 :0K GO ON
1749 003502 48:
1750 003502 004737 031470 JSR PC,GETCSR :GET CONTENTS OF THE CSRS
1751 003506 104005 ERROR+ S
};gg 003510 000744 BR 2
1754 003512 5%:
1755 003512 004737 031650 JSR PC,GETLIN :GET THE NEXT LINE NUMBER
1756 003516 000401 BR 1576 ::ALL BUFFERS TESTED
};gg 003520 000740 BR 28
‘759 ;;ttttttttttttttttttttttttttttttttttttttttttttttttitttttttttttttt
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GET VALUE FOR SOFTWARE SWITCH REGISTER

s JOBUF IN

sTHIS TEST WILL ISSUE A 'RECEIVE BUFFER IN'* TO EACH LINE
:AND TEST THAT EACH COMMAND ACCEPTS.

:X BLANK=XMIT BUFFERS IN

:X NON-BLANK=REC BUFFERS IN

SRR A AR AR AR AR AN AN AT E R A AAA AR AAARNAAAR AR AN AR AR RS

t876:

TEST
ttttttttsfttttettt'ttttttttttttttttt'ttttttttttt'tt'tttttt!t'tt
SCOPE
MOV ae TSTNUM :LOAD THE WD OF THIS TEST
JSR SETLIN :SETUP THE FIRST LINE
MOV 015 SLPERR :LOAD LOOP ADDRESS (LOOP ON ERROR)
MOV #1,ERNUM

1$:

2%:

4$:

5%:

CLR SHBE
JSR PC,INTKMC sINITIALIZE KMC=11 FIRMWARE
BR 3 sFIRMWARE FAILED TO INITIALIZE #=1

MoV #2 ,ERNUM
JSR PC.REQNR sCAN A REC. BUFFER=IN BE EXECUTED?
BR 4s’ :CANNOT ISSUE A REQ.IN #=2

:LOAD THE BUFFER IN TO EACH LINE

INC £
nov #10002,BUFCNT  :GET LENGTH OF BUFFER
MOV BUFCNT, RSEL6  :LOAD LENGTH
MOV #RBUF , 3SEL4 aecexve BUFFER
MOVB  CURLIN,@SEL3  ;LOAD LINE #
sTEST THAT FIRMWARE ACCEPTS COMMAND
JSR PC INPDUN :TEST THAT INPUT COMPLETED

BR :COMMAND FAIL TO COMPLETE #=3
BR SS ;0K GO ON

JSR PC,.GETCSR sGET CONTENTS OF THE CSRS
ERROR+ 6

BR 2$

JSR PC,GETLIN sGET THE NEXT LINE NUMBER

gg 5377 ssALL BUFFERS TESTED

SRR R A AR AR AR AR AR AR AN ARRAR AR ARRARANANRRARARAARAAR AR AR RY

sXRTST

sTHIS TEST CHECKS THAT EACH LINE CAN ACCEPT AND FIELD A
:TRANSMIT AND RECEIVE BUFFER. EACH LINE 1S INITIALIZED,
:THE MAINT. LOOP AND CLOCK IS ENABLED AND TWO RECEIVE

:AND ONE TRANSFMIT BUFFER ARE THEN QUEUED TO THE LINE UNDER
+TEST. ~A SERIES OF TESTS ARE PERFORMED TO CHECK THAT:

:1) THE FIRST RECEIVE BUFFER IS RETURNED UITH AN EMA (1)
:STATUS AND THE CORRECT ENDING MEMORY ADDR

:2) THE TRANSMIT BUFFER IS RETURNED WITH A 1 gTATUS AND THE
:CORRECT MEMORY ADDRESS.

:THE FAIL #'S RANGE FROM 1 TO 22 (OCTAL)

e RN AR AR AR AR AR TR RN R AN A AR AR AR AR RARRRARRRARRANASY

JTEST 7

SEQ 0040

™~
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CZKMEA.P11  20-0CT-81 17:05 SEQ 0041
1819 W iiiiii it il il ittt it i eIt R i i 2228823323223 2220%
1817 003664 t417:  SCOPE
1818 00 012737 000007 002460 MOV #7.,TSTNUM :LOAD THE WD OF THIS TEST
1819 003674 004737 030;44<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>